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g =sAsd Z X 10,550,000 14,936,000 A 4,386,000
SAA =sASF A 10,550,000 14,936,000 A 4,386,000
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308 MtXIEHSOIH 25,000 0 25,000
01 HXNHHBHELS 25,000 0 25,000
Ond IJtEle =230tE AAXN 7 =4 25,000
403 UHXSHHSA=0l& 10,000 0 10,000
01 XM A2E X 10,000 0 10,000
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= AE A 10,402,000 10,504,000 A 102,000
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OTXY =gda JpAerEE 29 27,000
2UIL(E NS4 24,987 30,083 25,096
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Jl= &l 24,987 30,083 25,096
EM2E JI=ZHl 24,987 30,083 A 5,096
201 Let24d] 17,541 20,063 A2,522
01 At 22/l 17,541 20,063 A2,522
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01 = LH 4 Hi 4,446 7,020 N2,574
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